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- 5,000,0002*14! 5,000
o=k R0 UAI|(60H) RXIE+
4,000,000 * 14 4,000
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3,500,000& 22 7,000
oMIIXIIE) RAAR(BFS, A S
) 3,000,000 %14 3,000
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400,000 *9IH*2CH 7,200
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110,000 x2EH+22 %13 440
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35,0008 x25+204 1,400
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02T MM SEEX £X
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50,000,000 *27H A-+0.90/100 900
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HH2LZH(SA D) (OIEHIIE 714,898 830,789 A115,891
el 2E | 315,176 313,651 1,525
el E2d| 315,176 313,651 1,525
101 ©1AH| 315,176 313,651 1,525
02 JIEtA == 57,200 56,090 1,110
OFHHZE ANAAZR+E =& 27,095
odd 10,5563 x 1 +57 Al 2t 123 7,221
o=dg 9,685 x3E+57 A2+ 123 19,874
OFHBE R22F=E 10,828
SR 84,8603 1 »342 2,886
ox=d 77,8603 3 342 7,942
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odd 3,519+ 1H+BA| 2h+3652+1/2 5,138
o=dg 3,228 x3+BA| 2H+3652%1/2 14,139
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Ot 22+ 151,005
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203 HR=H] 9,600 9,600
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